Kuwait University Math 102 Date: March 25, 2006
Dept. of Math. & CS 1st Exam Duration: 90 min.

Calculators, mabile phones, pagers and all other mobile communication
equipment are not allowed.

Answer the following questions:

1. Consider [2 pts. each]
fix) =tan'x +coshx, x>0,

a. Prove that f is one-to-one.

b. Find the slope of the tangent line to the curve y = i (x) at
the point (1,0).

2. Prove that
In(x") = rlnx
for any x > 0 and r any rational number, [2 pts.]

3. Find all solutions for the equation: [2 pts.]
logex + logg(x = 5) = 1

4. Find the exactvalue of  cos(sin™'(§) + cos™'($)) [2 pts.]
5. Find %’. if [3 pts. each]

a. y=(1+x%)"
b. ye¥ —In(l +x%?) = 3y - 6x°

6. Evaluate each of the foliowing integrals: [3 pts. each]

4 +3
> JZx‘+6x+1dx

b. [2-%e*3dx

5 +sinh®x



1 W=ty v eoshr , %20
Cbi\fbc) = 1_*1:{1 4 Sinh Dé‘),> O
40 Q 1y ?wc.v'{cfSMj :j ’p 1S 1“‘ l

1’)} 5'{0&: _Cj ._QHI(’K\ — —~L_— = “"L 5=
S f) A l?{;:k "‘Cfuz@!({fb(ﬂ) QJ—E'/(_OJ 1
LooLy 0zl wd ()= v dax
Thew pf@%.“ = th = %;f(x)) so Q(«):#ﬁﬂ«\c'
{N=31 >0 =0C=0, 5. Li)=4)
3 ]ogj& K + \ogj&tx‘,—b"):] &

—T

= ey, 29 g Loy, &
D Xl D (re)(xe 1) 0

= L= beor =1, bt He equadicn
N uvxdgrg‘\m ‘(g;b\’ﬁcl"-*l; I &i

4. ws(s‘w{\é{ . szaos%):: z‘.os(oﬁt(ﬁ)

72
= (0% e c;osgf;’a- Sy SM& o=
I (0 3
3
B

:E_Li—q_\.}__:q\)&ﬁ“?) \:L)
> g@} B 5("-_’3; 1O C/ N
S 4= (v Y = ,Qv\j ~ ﬁv\va"“)@
=9 Neany o x
2 Tj‘— ﬁv\U*V)i)** J4 e G

- Yr | L
=) o = (HKL) [ﬁft U'WL) + Ef‘z'}J@




5

—_—

/ ’ ) f/.l)i 'L_J'_ ’1,)57_3 p
g Y Qxfj + Y ex‘j L\j i %‘j/)"— 4 Y

%ij‘“ JZV\U‘T lejl):jﬂy_ by N

L

L+ Xy’ L
=39/—= 350 "
::\) Ay _ _le €x3+ ilvctdl - 3OJ£L7 -
e Fy L
| ' X‘j /D_,}c‘?—ﬂ B 3
| /k - [0 I
c Tme |+ %Y -

Ga j'mcp.y_l da _ o tyat] 4
N 1&”%*(93(?1‘\’\%&)\_ 15'@)u ;L,QV\\:LY _*&)k+]1 +C,
b ¢ r xe3 _
= 92 =+ C
ERYe






